SELETREMKEEET ABXE

J F X % E ® RIS

T = H E 5 & &




B = N AR E
7 NME  1-1EET
T fE ¥ 2 | HAL i &
MaE T
B+ (S3) 21.6 m3
FHERH] B+ (S3) 24.5 m3
%+ 68. 3 m3
HEA T 1.5 m3
P LB 24.5 m3  [JEMH R GEMREREEL00m)
) BB Y 12.3 m2
R RRIES I 55.0 | m2
WOFI A% T 8. 58 m3  |t=10cm
PEKH S T
FERRERE 5.61 m2
AN — AT 1A $1.2 £=2.0 10. 20 m3
SEANTTIHEAT] SEANT 37.0 m
SEANI TN I] & 25.3 m3
ST TTInT] WP IER 63. 4 m2
SLEAUNTTIHEAL] SEANT 8.0 m
SEANTTIEATL] 5.5 m3
SEANTTHED L] W MBS 16.6 m2
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g+ Ef 21.6 21.6 m3
B+ DIRKE R & (GZSER) £V 67.6
AR eV | BIRKG A (BT X2 ) £Y 0.7
s bRns 6V | BIRKG A (BT X2 ) £Y 0.0
A G 68. 3 68.3 m3
E¥ LT | KIE (S3) BIAKEHR & kMY T) i) 30. 6
BUMGEHEE (O TSEANTT) XV 20. 9
BMGEHEE (FOTSEANTT) XV 10. 7
BREIEE  (SEADLTERIET) XD 6.8
i 68. 9 68.9 m3
HE (C) PIRKE R & (HE KM 3E4 1) £V 14.3 14.3 m3
8] HIE R S3 DIRKE R (EmEF L) £V 12.3 12.3 m2
% TR BA DIRKE R (EmEF L) £V 55. 0 55.0 m2
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0.0 0.1 0.4
10.0 10.0 1.o| 0.55 5.5 0.0 0.20 2.0
13.5 3.5 1.7 1.35 4.7 0.0 0.00 0.0
17.0 3.5 2.3  2.00 7.0 0.7l 0.35 1.2
20. 0 3.0 0.0 1.15 3.5 7.5 4.10 12.3
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22.6 2.6 0.0 0.00 0.0 1.3 9.40] 24.4
27.5 4.9 0.2 0.10 0.5 0.0l 5.65] 27.7
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0.0 0.0 0.1 3.1 0.0

10.0 10.0] 0.3] 0.15 1.5 0.4 0.25 2.5 0.0] 1.55| 15.5 0.0 0.00 0.0

13.5 3.5 0.2] 0.25 0.9 0.8] 0.60 2.1 0.0] 0.00 0.0 0.0] 0.00 0.0

17.0 3.5 0.0] 0.10 0.4] 1.0] 0.90 3.2 2.7 1.35 4.7 0.0] 0.00 0.0

20.0 3.0 0.0] 0.00 0.0 0.0] 0.50 1.5 3.6] 3.15 9.5 0.5 0.25 0.8

1P. 2
22.6 2.6/ 0.0 0.00 0.0 0.0] 0.00 0.0] 4.1] 3.85 10.0 1.0 0.75 2.0

27.5 4.91 0.0 0.00 0.0 0.1 0.05 0.2] 0.0 2.05 10.0[ 0.0 0.50 2.5

& F 27.5 2.8 9.5 49. 7 5.3
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T A R BAE T (t=10cm)
+ wE | F W m M| R
0.0 3.10
IP. 1
3.4 3.4 3.10] 3.10] 10.54 1.05
10.0 6.6 3.10] 3.10] 20.46| 2.05
13.5 3.5 3.10] 3.10] 10.85 1.09
17.0 3.5 3.10] 3.10] 10.85 1.09
20. 0 3.0l 3.10] 3.10] 9.30] 0.93
1P. 2
22.6 2.6 3.10] 3.10] 8.06| 0.81
23.8 1.2 s3.100 3.10] 3.721 0.37
27.5 3.7  3.31 3.21| 11.88 1.19
& F 27.5 8.58
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AT Cp ®=1200

L = = 10.20 10.20 m
MRIERRFHEGE P242L 0
ey V = 550 = 10.0 X 10.20 = 5.61 5.6 m3
TE2E+ T
&R &
7S B S3 EET 3.0 X 10.20 = 30.60 30.6 m3
&R L
H = C T 1.4 X 10.20 = 14.28 14.3 m3
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ikl 1.2 X 0.6 X 80 X 0.9 = 5. 47 5.5 m3
W% HH B 1A JECHE R EAECADEH = 6.0
MlEm 1.2 X 0.6 X 2 X 2 = 2.9
MlEm 1.2 X 0.6 X 2 X 2 = 2.9
Kig 0.6 X 4.0 = 2.4
EHE O0.6 X 4.0 = 2.4
i = 16.6 16.6 m2
B2+ T
S3 a~20.0 ( 3.2 + 1.6 ) X 2.60 x 1 = 2 = 6. 24
20.0~b ( 1.6 + 1.8 ) X 2.60 x 1 = 2 = 4,42
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ikl 1.2 X 0.6 X 37.0 X 0.95 = 25.31 25.3 m3
W (H B 1R A JEH B mAECADE = 23.7
MlEm 1.2 X 0.6 X 6 X 2 = 8.6
MlEm 1.2 X 0.6 X 2 X 2 = 2.9
K 0.6 X 12.0 = 7.2
i&m 0.6 X 35.0 = 21.0
2 = 63. 4 63.4 m2
B+ T
a~17.0 ( 0.9 + 0.8) X 3.00 x 1 = 2 = 2.55
17. 0~20. 0 ( 0.8+ 4.6 ) X 3.00 x 1 = 2 = 8.10
20.0~22.6 ( 4.6 + 0.6 ) X 277 x 1 = 2 = 7.20
22.6~b ( 0.6 + 1.3 ) X 3.23 x 1 = 2 = 3.07
= 20.9 20.9 m3
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&t 12.8 12.8 m2
B+ T
S3 a~+14.5 (2.2 + 0.5) X 2.60 x 1 = 2 3.51
+14. 5~b ( 0.5+ 2.0) X 2.60 x 1 = 2 3.25
6.8 6.8 m3
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gV — N itk 20.0 =1000 = 9.18 9.2 m
TEPRALEE T 4 JEE CPP1000(BEHE : 53kg/m) 9.18 X 0.053 =  0.49 0.5 t
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b = Q=1/360-f-r-A Q i B8 (m3/sec) ZERME BRE| 4 g | DERE ha 3V
r RHRERE oo om t ; 1# s r THESK | KR E
V=1/n"R%(2/3)-1"(1/2) f R ER min mm/h| " mm/h m3/sec
(=T =) AR oK B E BE(m2) 50hall F 10 40 3.13 125 0.60 0.2083
BEKIEERRE Q=V-A V o f O #E (m/sec) 100hall F 20 40 1.92 77 0.60 0.1283
R : F 1 & i (m) 500hall |k 30 40 151 60 0.60 0.1000
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ha % % % mm/h m3/sec mm mm mm % m/sec| m3/sec|| C/ B m3/sec
R™(2/3)= 04948 n= 0.0240
1-1 1 1958 [ 100 125 0.60 4.0792 || cP1200 1200 |  30.0 | 11.2922 | 12.4428 3.05 A= 1.1019




